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Instructions for the candidates :

1. SETE qorEa 39 =1 H 8 I 3 |
Candidates are required to give their answers in their own words as far as
practicable.

it i @ @ fd gu ot ot Fifie wxd &)
Figures in the right hand margin indioaty‘ﬁdl marks.

N

3 mm#mmﬁé’m 15 Rz w1 e aa Rear mar &1

15 minutes of extra time have been allotted for the candidates to read the questions
carefully.

4. 9% FIVA 3 GVET o & — WUE-I U4 WUE-A
This question paper is divided into two sections — Section-A and Section-B.
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In Section.A, there are 60 objective type questions, out of which any S0 questions

are to be answered. Firg 50 answers will be evaluated by the compulter in case

more than 50 questions are answered. Each question carries 1 mark. Darken the

circle with blue / black ball pen against the correct option on OMR Answer sheet

provided to you. Do not use whitener / liquid / blade / nail etc. on OMR-sheet,
otherwise the result will be invalid.

0.

TUS-T 3§ 27 AY ITT 0y & Fr @ e 15 TV &7 I G dfAard &
W ¥ & R 2 9w Fruiie & s7% sfier, 50 ave 4 8 A sadle wv Rd
T8, T 6 T s qv @t gee S &) N 597 & [ s @ Fife &1

In Section-B, there are 27 short answer type questions, out of which any
IS questions are 10 be answered. Each qucst.l'on carries 2 marks. Apart from this,
there are 8 long answer type questions, out of which any 4 questions are to be

answered. Each question carries 5 marks.

-

7. 1o SR ¥ SERIE SRR T FAT QUiar st &)

Use of any electronic appliances is strictly prohibited.
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WUE - A / SECTION - A
mﬁ‘ﬁm / Objoctive Type Quostions
¥ e 1 ® 6o aw & WA & vy fwew Ay o & ek /@ gw wgt 1 et

S07¥1 & 3v 3 g Y7 0 Wt Rrwew wt OMR Ve av R w1

50x1=50

Question Nos. 1 to 60 have four options, out of which only one is correct. Answer any
S0 questions. You have to mark your selected option on the OMR-Sheet. 50x1 =50

1. ﬁqncm’a}mmﬁqawmm&

(A) 15 cm .(B) 16 cm
(C) 20 cm (D) 17 cm
The diameter of a circle with area 647 em? is
(A) 1Scm (B) 16 cm
(C) 20cm (D) 17 cm
2 ﬁl‘;’d,\DEFFMIAmRﬁ&m%th-/omzﬁ-/r;ﬂiﬁm%f@Hﬂﬁ
FI-UI el & ?
(A £LF=«P (B) <LF=4Q
(C) «£D=4LP (D) £E=4ZP

In ADEF and APOR., it is given that Z/D = ZQ and £R = ZE ; then which of the

following is truc ?

(A)  2F=2P (B) ZF=£0Q
(C) <£D=2P (D) ZE=ZP
3. WA G 2x+3y=5 TN 4v4 6y =15 F &
(A) 3 g (B) ¥ &
() S &t T (D) T J FH

The pair of equations 2x+3y =5 and 4x+6y =15 have
(B) infinitely many solutions

(A) unique solution -
(D) none of these

(C) no solution

PnQeSol'24_
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ot 65 ma 117 %) NaNo 65!'11-H‘Jf"f'?ﬂ'“it-?ﬁ"“mm’:{t
(A) 1

| 2
€y 3 D) 4
H1ICF of 05 and 117 i in the form of 65 m - 117 then the value of m is
M B) 2
() 3 (D) 4
2,10 ¥R 20 & Hedto AR wowo = MZIQTH&
(A 1 10 {B) 10: 1
B BT D) 11:1
The ratio of the LCM and HCF of 2, 10 and 20 is
Ay 110 (B) 10:1
€y 4:3 (D) 11:1

TR few oA o o |, 3R b A FAR k@, @ G B SGAT &
(A} Ibh
(C)y  2ibk

B) 12+ +h?
(D)  2(ib+bh +lh)

If the length of a cuboid is I, width b and height h, then the volume of the
cuboid is

(A) lbh
(C) 21h}.

B) yI1?+b2+n?
(D) 2(!b + bh + lh)
tunl0®tan!5%1an75°an80° = ?

A V3 (B) %

D) 1
fr=itefaa 7 @ &m-a1 foam gde € 2

'y S

(A)  2x'-3x=(x+1)? B) x2-2Jx+3=0
@) 3x+2=(3-x7+4 D) x-—5=4

- ———
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Which of the following is a quadratic cquation ?

(A) 2x?-3x =(x+1)? B) x?-2/x+3=0

C) 3x?42=(3-x%+4 O x?-Lag
X

9 U 489 3R U WH & MR wa &) ol I Hangt o wnm @, @ e

A1 &1 FIE &
A 1:2 B) 2:3
€ 3:2 o 3:1

The bases of a cylinder and a cone are samc. If their heights are also same, then

the ratio of their volumes will be

(A) } 2 B 2:3
(C) 3:2 (D) 3% |
10, 38 W fag At f fagait A(-1,0) 3R B(5,0) @ 89 0 W E, &
A) (0,2) 4By (2,0)
< (3,0) (D) (0,3)
The point on x-axis which is equidistant from points A(-1,0) and B(S5,0) is
A (0,2) (B) (2,0)
(C) (3.0) (D) (0,3)
1. -10.-6,-2.2,..,34 0 @ & F@AE
(A) 15 _B) 12 ,
() 13 (D) 14
The number of terms in =10, -6,-2,2, ... , 34 is
(A) 15 (B) 12
(c) 13 (D) 14
12. fag (6,-5)® x-FarE &
8y 6 (B) -5
(C) -6 (D) S
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The x-coordinate of the point (6, = 5 ) is

A6 (B)

€ -6 (D)

13, TR W x(2x-5)- 3 % yE wam g
2

LU (B)

© -3 )

The sum of the zeros of the quadratic polynomial x(2x -5)-3 is

2 5
(A) 5 B -3
-3 5
(€ 2 D35
14 14243+, +n TR E
(A) ﬂ;l (B) nin+1)(n+2)
2
©) nln2+1) | o) -l
2
1+2+3+ ... +nisequalto _
(A) . n;l (B) nn+1)(n+2)
. 2
(.C)/ ﬂ[ﬂ2+ll D) n(n-1)
L/ 2
15. FieiEd § 8 @9 g § 2
3 1
(A)  x*-5x+4Jx+3 (B) x2-x+x2+1
© Vxege D) 3x®-3/3x+6
Which of the following is a plynomial ?
3 1
(A)  x?-5x+4Jx+3 (B) x2-x+x2+1
© JE'-»?‘;» | D) V2% -3/3x+V6
[110 ] G [5010-G () Page 6 of 24




16. 12 m GV & T R 03 W o B s 43 m &g w I w5 R

) 60° (B) 45°

() 30° (D) 90°

The length of the shadow of a 12 m high pillar falling on land is 4y3 m. The
angle of clevation of the sun is

(A)  60° (B) 45°

(C) 30° ' (D) 90°

17.  AABC U& wH& faya & et 2o =90° 8 &t cos(A+ B) #1 99 &

o | B 1

o B

(C) 5

: |
2
AABC is a right angled triangle in which ZC = 90°. The value of cos(A + B) is

(A) O B) 1

! J3
€ 3 D

18. fagai (2,3)wW@ (-2, 3)Fda A

A 3 By 4
€ 35 (D). 6
Distance between the points (2,3 )and (-2, 3) is
Ay 3 B) 4
(C) S (D) 6

19. U doM 91 WF F AR F BN 34 F FIE H & T IR FARE 2:3F
e o 1 deH & EH H I ¢
‘((Ai\/S:fl ' @\ 9:8

(C) 8:9 - (D) 4:3




The radii of the bases of a cylinder and a cone are in the ratio 3 : 4. If they haye

their heights in the ratio 2 : 3, the ratio of their volumes is

(Al 3:4 B 9:8
€C) 8:9 (D) 4:3
20, TR 3,4,5,17 7 x W WA 68, A x T AR
@ 1 (B) 2
€ 3 D) 4
If the mean of 3, 4, 5, 17 and xis 6, then the value of x is
A) 1 B) 2
) 3 (D) 4
2l 3.4,7,2,7,6,7,9 % e &
(A) B) 3
7 .D 9
Mode of 3,4.7,2, 7,6, 7,9is
A) 2 B) 3
c 7 (D) 9
22. 133 19 & F WHIAR MA X hetp://www.bsebstudy.com
(A) 13 JB) 16
€) 19 (D) 12
Airthmetic Mcan between 13 and 19 is
(A) 13 (B) 16
(C) 19 (D) 12
23. T WA WHET x? - px+4=0 F G TR A Al p=?
(A) +3 B) :4
(C) -+5 (D) ¢2
If the roots of a quadratic equation x2 - px+4=0 are equal thenp=?
(A) +3 B) 4
(C) £5 D) 2
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A} a m »
(€ ab (D) g
Il a and b are prime numbers then LCM of a and b Is
Al a | b

& ab (D) %

25, fag (v )W gy fag Ak

w Va2 B (3
© -y D) x%?

Distance of the point ( x, ¥ ) from the origin is

A Y-y B eyl

© -y - O =
26, Frafefaa  } w1 s wen d 7
A) 15 - B 23
€ 12 D) 75
Which of the following is a prime number ?
(A) 15 (B) 23
€ 12 D) 75
27.  (1+1an0+ sec0)(1+ cotl - cosecl)= ?
(A) -l B 0
c |1 o) 2
28, uft um ga @ Ay 2x H WA 4n W W, W IEEH AR B
(A) 3 B
() dmR T : (D) WX
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W the circumference of a circle is increased from 2 to 44, its aren will be

(A)  halr (B)  two times

(€} three times (D) four times
29, B0 Q@ fog % P e ?

Ay (1) B) (0,0)

€ (-1,1) "(Dl vl @

w

hich of the following is the co-ordinate of the origin ?

A (1,1) B) (0,0)

€ (~1,1) (D)  None of these
30 x=-s5® yelE F we g o

(A)  x-3 & FHiHR B) -3 & BHER

© 7 g § ot g (D) ¥ @ F73 A
What type of straight line will the graphof x=-S be ?
(A} parallel to x-axis (B)  parallel to y-axis
(C)  passing through the origin (D)  nonc of these
31.  sin(90°-0)=
(A) sin0 - (B) -sin0
(CY" cosO (D) -cos0
32. F=fefea 4 § @9 ofole den d 2
Ay 2-43 B 5
2J3
L) D) V6
& B (D)
Which of the following is a rational number
Ay 2-3 B 5
2J3
C D) V6
(C) B (D)
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33, 4oft secl -:-%'I-T, " cot ) 7 th

S s
(A) 12 B 3

12 3
o3 m 1
lfmn-%%.thrnﬂnﬂhmlio

5
A5 %
Y L}

5
34 fgat a4y 3 g e 3 Goed oed gy 8 afex ¢ beooe |

(Al (0.12) M (6.0) .
) (6, 4) o 10.6) 0
The co-ordinates of the mud pvent of the e srpment josnung the pomts AQ, 4)
and H(-), 8) i
AN (0,12) m (6,0)
€ (6,-4) (™ 10,6)

35, furh yn ot o e @ feond ot 1ot i m ok B )

JA m 2
<« 3 Dy ¢
Mow many tangents can be drown from an external point on a circle ?
(A) ! m 2
i« Dy 4

36  Mn6d

con27°
a A [
< 2 > 3

{110} G [S010-Ga Page 11 of M4




a7, frum -
W 7, G X 2 % 'Fﬂﬁk _
34
'A, ""30 9 "]l - a'-j
< - -g--g— o) ¥ a a
The zeroea of the polynomial x2 + -bl-x -2 are
34
(C) - %% (D) nonc of ihcsc
38.  ®WWR Ah 10,7, 4. . @ 30 91 9% T &
(A} -55 (B) -66
Cr -77 D) 81
The 30th term of the AP.10,7,4, ..is cqual to
(A) -55 (B) -66
) -77 (D) 81
39, 'qﬁ: lanOa-l% ﬁ. at cosec(Q &I qﬂ#
oo '8
DL B 17
15 ‘ 17
(C) 17 (D) 15
If tan0 = qu-. then the value of coseco is
17 | 8
(A) 3 (B) 17
15 17
(C) 17 (l?l 15
40. 19 1007 o WrFA WA Fr Ay ,
(A) 4050 - -~ (Bf sos0 .
(C) 6050 _ (D) 7050

[110] G [5010-G ) Page 12 of 24




The sum of all natural numbers from 1 to 100 is

(A) 4050 (B), 5050
(C) 6050 (D) 7050
], YW x,yﬁtf@'ﬁmﬂm ar+by+c-0ﬁfqﬁﬂ3ﬁmqmmt ?
(A) 1 B) 2
© ST (D) T R} &K

How many maximum solutions of the lincar cquation ax+by+c=0 are

possible in two variables x, y ?
Al 1 (B) 2

(C)  Infimtely many (D)  nonc of these

42, TSR SON 1,4,7.10, .. FRT-WIZ 88 T ?

(A 26 : (B) 27
(€ 30 (D) 35
Which termof the AP. 1,4,7, 10, ...1s 88 ?
(A) 26 (B) 27
() 30 (D) 35
43, fag (-3,-5)Fam A fEme ?
(A) W49 UG . B fdw R
sef i R (D) ¥ IR
In which quadrant does the point (- 3,-35) liq.?
(A) Ist quadrant (B) 2nd quadrant
(C)  3rd quadrant (D)  4th quadrant

44. 2cos260° @ T 4

ke I}
@1 o 3

[110] G [5010-G g7 ' Page 13 of 24




Value of 2caa? goe in

|
(A 3 ()

al—

€ 1 )

Nl—

45. h'ﬂﬂﬁflm&wnwm&urmﬂmqhmsmﬂ'm'wt ?
(A) x’-.’],\w 10 (B3) x2+3x-|0 ,

(C) x?-3x-10 (D) il A FI¢ 8

In the following which is the quadratic polynomial whosc sum of 2eros s 3 an4
product is - 10 ?

(A) x?-3x+10 (B) x?+3x-10
€ x?-3x-10 (D)  nonc of these
a6. Frefafaa § / oY won, v e @) wiew A 8 ww § ?

2 ; ;

@ 3 m -0 5

) 07 | (D) 15%

Which of the following numbers cannot be the probability of an event ?
2
S -05

A 3 (B) |

C 07 ' D) 15%

47. mdﬁmmmdﬁmﬁwmm o femeen &M 2

@ 1 B) 2

© o | o wEIWEE

The HCF of the smallest composite number and smallest prime number is
@A 1 (B) 2 |

c 4 (D)  none of these

[ 110 ] G- [5010-G a7 Page 14 of 24



48, U Wi @1 O, B S e R, ) W 4 mm 2w o e
AR &) wrard ¥
100 ‘
W - em (B) Q'j cm
(C) 100x cm (D) 10600 cm
A wirc of 4 mm diameter is made by pulling a metallic cube whose side is 1 cm.
The length of the wire is
A 1% em ® 25 cm
n
(C) 100 cm (D) 10000 cm
49, 1 +tan’0 =
A sec? 0 (B)  cosec?o
(C) tan’0 (D) cot?0
s0. afg 3 wHew o @ @ yensl d 3 ;4 N IFTE &, A I GEn wH
I &
(Af 3:4 B) 4:3
N 9:16 (D) 16:9
If the corresponding sides of two similar triangles are in the ratio of 3 : 4, then
the ratio of their perimeters is
(A) 3:4 B) 4:3
(C) 9:16 (D) 16:9
51. UF WHAR A ABC I T Y 12 cm g1, d F@! Hag &
(A) 642 cm © (B) 6Y3 cm
(C) 3J6 cm (D) 6J6 cm
One of the sides of an equilateral triangle ABCis 12 cm, then its height is
(A)  6J2 cm B) 643 cm |
(€ 3J/6 cm (D) 66 cm

[110] G

5010-G (1)
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52. ﬂfﬂ'ﬂmﬂm 3x-y-5m6x-2y-k *ﬂim?ﬁ.“}

Al ke B) ke# O
€ kv D) ke-10
If the CqQuations 3x-yeS and 6x-2y=k hm;tno solution, then
A) k=0 B) k» 0
(C) k=10 (D) k=-10
A ‘ﬁ“ﬁIUUmﬁ1&m§mm~#{m;}wq{3ﬁﬂwmﬁ!‘mi‘
g &
Al 100 m B) 10042 m
. 200
© =m D) 200m

The length of the Mrning of a kute fng at a hewght of 100 m from the ground and
ungle of clevation 60° e

(A} 100m B 1002 m
() 20:1'0“‘ ™ 200m

54. ﬁamhﬁwwwﬁﬁamwmthWqﬁd
M uedw wviter @ st b

(A) 23 em (B) -—3-'2[-:-’- cm

(€)  3J3 em D 6cm

If two tangents inchined at an angle of 60° are drawn to a circle of radiun 3 cm
then the length of cach tangent is

A 243 em B 3B

€ 33em M 6cm

| 110] G [5010-G an) Pagr 16 of 24




55. 52 AWl W CF T W B wx Fow, mﬂﬂmtmmﬁmmmh
W S 1 IR 0w wfawar e ¥ 7
!

ol P
A & 2
L. 3

9 = © 39

A card is drawn at random from of a well-shuffled deck of $S2 cards. What is the
probability of getting a king of black colour ?

|
(A) 13 B8) 26
. ) K |
(C) 5 (D) 39

56, fauifefga 8 ) #)3 coseco & WA ?

cosl) __]_
(A) sin0 ™ sec
- snd
.,(Sj' sin0 oy 0
Which of the following is equal to cosec® ?
coal) |
(Al sin0 B sech
- m%
(€ sin0 o cod
57  4e 2mn0«1,M (3cot’ 0+ 3) W TR WU
L 12 | 1S5
< 9 8
If 25in0 = 1, then the value of (3cot? 0+ 3) will be
(A) 12 B 15
© 9 o 8

e e el s

R ——

[110]G [010-Gun Page 17024




A 1
”2 B 1

c
* o (D)

|~

The probability of an impossible event is

1
W &
(C) 0 l
Dy =
3
g0 '.-':'-T'.'-J'_c'Jvf 141 t': : ‘rEt‘ ~12 ; W 7.;‘?:?-?;' k 7
‘r\l - 1‘;{:? \f-i l
. (B) -3'5-7'
2
. bt S ‘ -
) 7 -!J; (D) =R "i &1

Which of the following are zeroes of 2 - V2r-127?

A -3J2,/2 ® -3f4,-
2
(& _3. . - (D)  none of these

60. '{T{Hﬁma’s\ﬁmﬂ?ﬂt

(A) 9I¥ (B) 9ET
(€ =™ (D) = E F A

-

The largest chord of a circle is
(A) arc (B) chord

(C) diamecter (D) nonc of these

[ 110 ) G {5010-G 17 Page 18 of 24




WYY - ¥ / BECTION - B
®q I W / 8hort Answer Type Questions
H¥T W z#zfavrﬂgawﬁvhnﬁ#ﬁﬂ? 18 77T & o §1 aRiw wy & Ry

29 fFrutfia i 15x2=30 .
Question Nos. 1 to 27 are Short Answer Type. Answer any 15 questions. Each question
carries 2 marks. 15x2=30

| e W T AR TOTE S &) -9 QR o @ s WA w2

|

Three coins are tossed together, Find the probability of getting at least two
hcads.

2. oA R X2 -2x-8 & YR A HIC - 2
Find the zeroes of the quadratic polynomial x?-2x-8,
3~ @& HUF sin?5° +5in? 85° + 8in? 10° + 5in? 80° = 2. 2

Prove that sin? 5° + sin? 85° + sin® 10° + 8in? 80° = 2.
4. UF T4 AABC ¥ 1 BC ® p g W ¥l &t & @ qmﬂwmmﬂﬁ
. @R W FEE Q au R R WA w §) fag B 5 AQ=2(a4BC W
qieAm) | 2
A circle is'touching the side BC of AABC at P and touching AB and AC
produccd at Q gnd R respectively. Piovc that AQ = %(Pprimctcr of AABC).

5, U g & O T Se A Y 4K T aRAY 25 om & .3
Find the area of a quadrant of a circle 1f its perimeter is 25 cm. |
6. mq@ﬁww%m%mﬁwmmmaﬁmﬁmmﬁi 2-

- Two dice are thrown together. Find the probability of getting even numbers on -
.both dice. )

[110] G [5010-G a7 - Page 19 0f24



8

7/
~s

9

10.

11" 3R 71an0= 4 & @ (7sin0-3cos0)

-

152 %% (3. 5) o e st b -,

Prove thay (3+/5 ) is an irrational number.

O % 90 e s T 12 - ax 1w Q 5 R T

Using quadratic formula find the solution of the equation P -4x-1=0.
TR At @ S g 1) ¥ e G au W 9 A 34 3 I

SEEUG RO E o 2

Determine the common difference of an A.P. whose 4th term is 11 and sum o
the 5th and 7th terms is 34, http://www.bsebstudy.com

CF \ABC % AD, BCW & ¥ fug %% fr (AB? + CD?) = (AC? + BD?). 2

[P MBC, AD s perpendicular to BC. Prove that (AB? + CD?) = (AC? + BD?).

(7505 3c530) F1 49 7 S 2

Il 7tan0=4, then find the value of (73§n0—3co30|.
(75in0 + 3cos0)

_)2./rmwmﬁaai‘lmﬁw}hgsﬁuz,-s;amBc-z.gliim#l 2

Find a point on x-axis which is equidistant from the points A (2, -5) and
B(-2,9).

L} xmyﬁwmmﬁ“&ﬁ’?myl.(?.l)ﬁWIS.slmtl 2

\

Establish a relation between x and y if the point ( x, y ) is equidistant from
(7.1)and(3,5).

y/ %1 FeaH F1 HoTo 23 ¥ 7T I FoWo 1449 ¥ A W Wam 161 &, @t g

1 A H ) | 2
“The HCF of two numbers is 23 and thieir LCM is 1449, [f one number is 161,
then find the other number.

| :l-lo‘l G |[5010-G u7)| Page 20 of 24




15.

19.

20.

A, el RUd T ax? + bx+ ¢ & Y B A ol + 2 F 0 W B 2
If @, arc the zeroes of the quadratic polynomial ax? +bx+c¢, then find the
value of a? + p2,

gfdTs & fawrom uwifvar @1 s @t 272 7T 1032 T Hoo FTet | 2
Using Euclid's division algorithm, find the HCF t;f272 and 1032,

IR NG T 7% g Pt forgat @ 14 om € 2.
Find the surface area of a hemisphere whose diamcter is’]4 ;::m.-

SiefoR i i _ 2

tan? 60° + 4 sin? 45° + 3sec? 30° + Scos2 90°
cosec 30°+ scc60° - cot? 30°

Evaluate the following :

tan? 60° + 4 sin? 45° + 3sec? 30° + 5¢08290°
coscec 30°+ sec60° - cot? 30°

T T 24 Sy =1 3 2+ 3y =3 F 79 O Fafr R 7 HE 2

Solve thc system of cquations 2x+5y=1 and 2x+3y=3 by cross-

multiplication method.

0-16 I g%mﬁ?ﬂﬁu

Convert O- 16 in the form of -;i

wamqﬁmﬂyﬁhréznmmmﬂfﬂm?cmt?ﬁmwaﬁ
‘ | 2

of a right circular cone whose height is 24 cm and radius

AT |
Calculate the volume
of the basc is 7 cm.
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: et & fw

22, AABC % ymalt Ap ™ Ac W W fag p ok g owen: T
_ 1) cm @
DE| | BC, ufun-m.t--’lltm. AE = (8x -7 )cm, BD = ( 3% | 2

CE=(Sx-3)cm, @ x %1 919 Frredy uch that

: s
In AABC ., D and E are two points on the sides Af and AC respectively o
" cm
DE||BC. If AD = ( 4x - 3} cm, AE = (8x~7)cm, BD = (3% 1]
CE = (5x = 3) cm, then find the value of x.

2
23 fog &t fe tanAstanB o8
o cotA+cotB

Prove that 140 A+tan B

- ‘ )
cotAscotp - anAtanB

29, UF aaABC & ¥ fawoA-3,0), B(S,-2) @1 Cc(-8,5) &1 50 {1
A aifAu) 2
The vertices of a AABC  are A(-3,0), B(5.-2) and C(-8,5) Find the

centroid of the tnangle,

% FerieiiEa de &1 g 7 1 2
Find the mode of the following distribution :
ol A 0-20 | 20-40 | 40-60 | 60-80 | 80-100°| 160120
Class-interval 3
AN 30 36 52 61 38 33
Frequency
26. [AEAlcAREa 929 1 . 7 &+ 2

Find the mcan of the following distribution :

- AT 0-10 |- 10-20 20-30 30-40 40-50
Class-interval
AR 7 8 16 9 10
Frequency ‘

_3;./3'1mﬁmm.mo%mmwﬂmﬁmzmow%%ﬁ#@ﬁmﬁl 2

If the sum of two numbers is 1000 and the difference of their squares is
256000, then find the numbers.
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Ot TR U1% | Long Anewer Type Questions
UTR TR 28 9 38 € wwfre wr by ped % A 4 ot & awe @) b o &
fre s siw Pratfen 2 4¢6°20
Question Nae 28 10 35 are Long Anewer Type questions. Ansuer any 4 questions. Each
4520

question enmes S marks

‘2.H-\ ‘hﬁ‘a’m'{’n x‘Zy-;JM‘onynzmmﬁmmd'_ 5

Draw the graph of pair of equations x » 2y = 3 and 4x +Jy = 2.

UF 60 m BT AITF F A AN m#-mﬁmmmﬂwﬂ"!ﬁ" a
G e @ dv weE & uw feg @ g & R & 3RO W w30 3
(m(vf}amﬁaﬁmmzmﬂﬁhﬁ’aﬁqﬁmmﬁql 5
Two poles of cqual heights arc standing opposite to each other on cither side of

the road, which is 60 m wide. From a point between them on the road, the
angles of clevation of the top of the poles are 30° and 60° respectively. Find the

20

heights of the poles and the distance of the point from the poles.

0. iz w1 fe g7 @ 71w et & wiegst @ e W @ &
&% | F& A& 5
Prove that the linc segment joining the points of contact of two parallel tangents

of the circle passes through the centre of the circle.

31, UF @G $B g0 a9 a0 @ a9 e §1a% TS 10 km/he FUE 3 Tl
711, Al 30 Fraa @eg | 2 92 0 @ 3R AR 10 km/he W TR AR, @ I
fAud a9 | 3 92 Afues e | TS B A @ R g0 W A 5

A train travels a distance with cqual speed. If the train had run 10 km/hr
faster, it would have taken 2 hours less than the scheduled time and if it had
run 10 km/hr slower, it would have taken 3 hours more than the scheduled

time. Find the distance travelled by the train,

| 110 ] G [5010-G n7) ~ Page230f 24




A2

i3

fng wife _tanA_ . _cotA
(I-cotA) (1-tanA)

=(letanA ¢+ cot A). 5

Prove th tan A cotd .
¢ that ll-mlAl‘ﬂ-unAl (1+tanA « cot A)

ﬁwwﬁzpﬁﬁmamhomwmﬁd*mﬁ*h
¥ ¥ 60° £, A op %! Fat ym WY, S
if the angle between two tangents drawn on a circle with radius a and centre
Ofmmmut:nothPhGO',ﬁndmclm‘thofOR

f*’-“-‘-'“"*‘-’.%ﬂ2ﬁéé20mﬂzmﬁrtmum%m?ﬁ2ﬁ“km*
TEA b T R v S A v w O T 5

Nisha can swim downstream 20 km in 2 hours and upstream 4 km in 2 hours.
Find her speed of swimmingin still water and the speed of the current.

35 cm 0 @1 4 W1 I8 9 W G @ wyitEn WiET S SR -

S

Draw a circle of radius 35 em. Draw two tangents to the circle which are
perpendicular 1o each other.
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